Math 2040
Exam I Key

Exam a:

1a. horizontal line test

1b. yes, it’s one-to-one

2a. D:{x|all reals}

2b. D:{x|x≠ -4}

3a. -20

3b. -23-3h

3c. -3

4. 
[image: image1]   D: (-∞, 5]

5. 
[image: image2.wmf])
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6a. y-int: (0, -3); x-int: (-1, 0), (-3, 0)

6b. (-2, 1)

6c. –(x+2)2+1

6d. max is 1

6e. D: {all reals}, R: {y≤1}

6f. (-2, ∞)

7. 
[image: image3]x= -2.48, x= 3.48
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9. r=24%

10. as written: 3086 days; or using APY formula, APY=8.54%

11. $1069.03

Exam b.

1a. vertical line test

1b. not a function: (0,0) and (0, 4)

2a. D:{all reals}

2b. D:{x≥2, x≤-2}

3a. -9

3b. -5h-4

3c. -5

4. 
[image: image5] D: (-7, ∞)
5. 
[image: image6.wmf])
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6a. y-int: (0, 3); x-int: 
[image: image7.wmf]÷
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6b. (-1, -1)

6c. 4(x+1)2-1

6d. min y= -1

6e. D: {all reals}, R:{y≥ -1}

6f. (-1, ∞)

7. 
[image: image8] x= -6.09, x= -1.46, x= 0, x= 1.14
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9. r=6%
10. as written, 1040 weeks; with APY formula: APY=5.65%

11. $3045.30
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